[ L —bh 3] [ _Fnsz—]
L | V=777 ﬁ/v77‘/ T 7 —8AR 1.6t 1 15| 2@ Sk ANT 7o T8 0.6t 1
K| =7 TNT 7 IT—8MR 1.6t 2 14| 2227y —RER 60 X450 X450 | 4
J | BEMABRAVMEYN | (RUARN) M6X 15 7T DRV -F vk | 26 | 13| av sy —r s TV AB063S -+ T5 LA 25Xx50x3t | 1
946 (PhiEx o) || STVERAIE Ay b (BERL) MAX10 Foh, e, SRS 16 | |12/ #THiA% i SWCHS =s.=sm $10X300 | 6
906 (hi o) H | Bifrextyh (RUAD) MAX10 Fvb, B, 1A 20 [ e xy sUS M4 X 12 8
_ E 1 G | AtAUTH TN (FF9h) ANV HYa—h  3tX45 1 NRFUAET v 7ZDC #2(/m—ABE4) Sus304 4
ﬁ ! ﬁ\ ; F | AU T OToN  EARVERYT 3tx45 | 1 | [10] ko rky SUS M8X15 Tyir—Fvhyh |4
X ?\w »\u!< E| BoF 7ZDC #2(7a—h§E4r) 4 9| ALK SUS M8X45 Tvi v—7Fvhtvh 6
g ‘ ‘ D | /T EE ZPC #2(7D~f§f§(ﬁ)\ Sus304 6 8| Ko ~Fr—r(1.6m) = alid 64X 1600 P
B C ’I’j77i? ANT 7o 772“@%& 0.6 2 | [7] #oxFz—2Gm) S raih 6 4% 3000 D
% \\ = ] B\ 7T SRNVEL | INT 7 BT—8RIR 0.6t 2 | 6] z~ntmzos ADC T NVRH AT AR 4
O F A2 —F = SAINIEA | ANT 7 BT8R 0.6t 2_| [5] mamitt 7L - T5 THL 20X40X3t 2
" k J No, I ¢ M H ~F | B | [ 4 [ R~ - FA - T5 T 20X40X3t 2
i 10 . - . . . 3| w7 B | TR A6063S + T5 LA 25X50x3t | 2
¢ BEC R K- REILTEHEDT 4 TT, : .
©—] L E x ﬁﬁanﬁwmf’? RO ﬁj\%ﬁ ST R/O7 4T o | MRG0 A [ 713 AG063S ¢+ T5 LI 30X30X3t | 2
T 260 :ﬁ/{_%#) b 777]\/\7‘\/1/)@ E/\Iﬁ%b7’f/ T3 0.2t X60X450| 2 1| 7—FmSh T+ T5 44 30X30X3t 1
a|a—F—"FVHERBEL7 T3 0.2t X60%X370| 4 No b 4, 7 7 ~+ i B
No, fit 4 I R
940 (7—FHIHAD)
@ —74
982 _4,
f O € 0 o g ® r—7
b .E' [=)
— . /@ ®\ S N
o 5 T bR
S NN g
[a\]
g &= e q /®
3 4 / !
@\cw R c 3 |
= N ] 2| | = sv—rE
= u% 4 I e o ¥ JE %60
S — 2 l Al =
o~ © 1 1 450
_ = o \
> D) By @\ } I
'l R | 4 777“?%:.:::::::::::93?
®_| . . . —— .
R utic || 81-© e L ® * b - Sl R 010 8
GL N e e e ) e = —— === ==
IR AR , T — A @ o
\ 910 \
% RIET (818gal ) BRY HIUE T A AR A EARE S I e e A i | BN — RN — R R
WP RLE VMR R T = — )T E F2ABRITEL T FEW, * 7 P e A LA | T e HEE | UTIC-504SECZ-HP  |%"22.1.24




